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J2xz4 X (API) BEA%

TOETIE, WO Python 7 7Y r—ay Iuss30 7 Ao 2—7 x4 % (APD) BIEIC SV TR
BHLET, ZOFEX, KOARTHRINLTWET,

e [Routes()) (P.2-1)

» [showArpTable()] (P.2-2)

e [showVshRoutes()| (P.2-3)

o [showHwRoutes()] (P.2-3)

o [verifyRoutes()] (P.2-4)

o [verifyArpTable()) (P.2-5)

e [CheckPortDiscards()| (P.2-6)

e [ 7 Z % BufferDepthMonitor(CLI)J (P.2-7)
o [getTotallnstantUsage()] (P.2-7)

» [GetRemainingInstantUsage()] (P.2-8)
o [getMaxCellUsage()] (P.2-9)

o [getSwitchCellCount()| (P.2-9)

o [ltransfer()) (P.2-10)

e ICLI)) (P2-10)

o Tget output()) (P.2-11)

e Trerun()) (P.2-12)

» [History()/ (P.2-12)

o [lget history()) (P.2-13)

o [clear history()] (P.2-13)

Routes()

H=

Routes () - Class Object
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W showArpTable()

B/

Routes ()

B L]

Routes 7 7 ADA TV =7 " AX 2L LET,
INT A=A

7L,

RYE
Routes 7 9 ADA TV =7 b,

#l

rObj = Routes ()

showArpTable()

M=

showArpTable ()

#x

Routes.showArpTable ()

BTLL]

showiparp 2~ FZFEITL, HOERLET,
NS HA—45

7L,

RY{E
ZA v FDARP 7—7 N = b U iR LET,

7l

routeObj = Routes|()
data = routeObj.showArpTable () .get output ()

H A5

Flags: D - Static Adjacencies attached to down interface

IP ARP Table for context default
Total number of entries: 4

Address Age MAC Address Interface
50.1.201.2 00:02:10 547f.ee4d40.5a7c Vl1an201
50.1.1.10 00:07:53 547f.ee62.£f801 Ethernetl/34
50.1.2.10 00:08:31 547f.ee62.£f801 Ethernetl/35
50.1.3.10 00:08:31 547f.ee62.£801 Ethernetl/35.1

<cisco.CLI object at Oxb7cl462c>
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n

showVshRoutes() W

showVshRoutes()

;M=

showVshRoutes ()

X

Routes.showVshRoutes ()

e

show ip fib route #3247 L, HAZKL £,
NG A=

2L,

RYE

Y7 T —bh ) ERLET,

7l

routeObj = Routes|()
data = routeObj.showVshRoutes () .get output()

H A5

IPv4 routes for table default/base

__________________ N
Prefix | Next-hop | Interface
__________________ R
0.0.0.0/32 Drop NullO
50.1.1.0/24 Attached Ethernetl/34
50.1.1.0/32 Drop NulloO
50.1.1.10/32 50.1.1.10 Ethernetl/34
50.1.1.100/32 Receive sup-ethl
50.1.1.255/32 Attached Ethernetl/34
50.1.2.0/24 Attached Ethernetl/35
50.1.2.0/32 Drop Nullo
50.1.2.10/32 50.1.2.10 Ethernetl/35
50.1.2.100/32 Receive sup-ethl
50.1.2.255/32 Attached Ethernetl/35
50.1.3.0/24 Attached Ethernetl/35.1
50.1.3.0/32 Drop NullO
50.1.3.10/32 50.1.3.10 Ethernetl1/35.1
50.1.3.100/32 Receive sup-ethl
50.1.3.255/32 Attached Ethernetl/35.1

<cisco.CLI object at Oxb7blabac>

showHwRoutes|()

;M=

showHwRoutes ()
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W verifyRoutes()

B/

Routes.showHwRoutes ()

B L]

N—=Ry=7 L—rEFHREL, HAOZELET,
INT A=A

L,

RYE

N—FR=z27 b—h o M) BELET,

il

routeObj = Routes ()

data = routeObj.showHwRoutes ()

HAs

__________________ o
Prefix | Next-hop | Interface
__________________ +__________________+_____________________
50.1.1.100/32 Receive sup-ethl
50.1.2.100/32 Receive sup-ethl
50.1.201.1/32 Receive sup-ethl

0.0.0.0/32 Drop Nullo

50.1.3.0/32 Drop NullO

50.1.201.0/32 Drop NullO

50.1.2.255/32 Attached sup-hi
50.1.1.255/32 Attached sup-hi

60.1.1.0/32 Drop NullO

50.1.3.255/32 Attached sup-hi
50.1.201.255/32 Attached sup-hi
255.255.255.255/32 Receive sup-ethl

verifyRoutes|()

M=

verifyRoutes ()

#x

Routes.verifyRoutes ()

E

72T EN—KR 27O — hEHERLET,
NS A=A

L,

RY{E

N—=KRU 2T ¢V 7 2T OB T—HLIEL—FBIO—H LAV L—FDEEERL £,
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n

v 48— 4X (API) A%

#l

routeObj = Routes ()
found,nfound = routeObj.verifyRoutes ()

HAH

Routes verified and found: 26

Routes not found:

50.1.205.0/24 3
51.1.1.0/24 3
51.1.2.0/24 4
51.1.3.0/24 6
100.1.1.0/24 7
100.1.2.0/24 7
100.1.3.0/24 7
101.1.1.0/24 7
101.1.2.0/24 7
101.1.3.0/24 7
120.1.1.0/24 7

verifyArpTable()

;M=

verifyArpTable ()

X

Routes.verifyArpTable ()

SR

VI M 2T EN—KR=2T7DARP 7 —7 1V = MY 2R L E£7,

INT A=A
L,

RYE

verifyArpTable()

N= Ry 2T YT Ny 2T O T—HLIZARP 7—7 NV = P BLUP—H L7272 ARP 7—

TNz N o¥KERLET,

#l

routeObj = Routes ()

found, notfound = routeObj.verifyArpTable ()

HAH

Flags: D - Static Adjacencies attached to

IP ARP Table for context default
Total number of entries: 4

Address Age MAC Address

50.1.201.2 00:02:31 547f.eed0.5a7c
50.1.1.10 00:08:15 547f.ee62.£801
50.1.2.10 00:08:53 547f.ee62.£801
50.1.3.10 00:08:53 547f.ee62.£801

mac address:54:7f:ee:40:5a:7c

down interface

Interface
Vlan201
Ethernetl1/34
Ethernetl/35
Ethernet1/35.1

| oL-26601-01-J
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W CheckPortDiscards()

Arp entry for 50.1.201.2 547f.eed40.5a7c V1ian201l found in HW

mac address:54:7f:ee:62:£8:01

Arp entry for 50.1.1.10 547f.ee62.£f801 Ethernetl/34 found in HW
mac address:54:7f:ee:62:£8:01

Arp entry for 50.1.2.10 547f.ee62.£f801 Ethernetl/35 found in HW
mac address:54:7f:ee:62:£8:01

Arp entry for 50.1.3.10 547f.ee62.£f801 Ethernetl/35.1 found in HW

CheckPortDiscards()

;M=

CheckPortDiscards (<port>)

X

CheckPortDiscards ('ethernetl/1")

]
KEDR— N TOANFEREZMERLET, FBIN 0 2B2 55815, broadcom 7 HEEIFEDOHA %
L CHIRILE9,

INGA—45
port

RYE
2L,

|

¢ = CheckPortDiscards ('ethl/1")

H A5

Ethernetl/1 is up
Hardware: 100/1000/10000 Ethernet, address: 547f.ee57.dd28 (bia 547f.ee57.dd28)
MTU 1500 bytes, BW 10000000 Kbit, DLY 10 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ARPA
Port mode is trunk
full-duplex, 10 Gb/s, media type is 10G
Beacon 1is turned off
Input flow-control is off, output flow-control is off
Rate mode is dedicated
Switchport monitor is off
EtherType is 0x8100
Last link flapped 00:42:16
Last clearing of "show interface" counters never
30 seconds input rate 5016 bits/sec, 627 bytes/sec, 6 packets/sec
30 seconds output rate 3232 bits/sec, 404 bytes/sec, 5 packets/sec
Load-Interval #2: 5 minute (300 seconds)
input rate 4.69 Kbps, 7 pps; output rate 2.82 Kbps, 4 pps
RX
297 unicast packets 20588 multicast packets 5 broadcast packets
20890 input packets 1848701 bytes
0 jumbo packets 0 storm suppression packets
0 giants 0 input error O short frame O overrun 0 underrun
0 watchdog 0 if down drop
0 input with dribble 0 input discard(includes ACL drops)
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0 Rx pause
TX
262 unicast packets 16151 multicast packets
16418 output packets 1407200 bytes
0 jumbo packets

45 Z BufferDepthMonitor(CLI) W

5 broadcast packets

0 output errors 0 collision 0 deferred 0 late collision

0 lost carrier 0 no carrier 0 babble
0 Tx pause
2 interface resets

zero discards

2 5 X BufferDepthMonitor(CLI)

H=

BufferDepthMonitor ()

#x

monitorObj = BufferDepthMonitor ()

B L

Z D7 7 A%, show hardware internal buffer info pkt-stats =~ KON ESH L, Sy 7 7 OFEM

BAERTAY y RIZT7 7 ATESE91CLET,

NG A=A
3L,

RY{E
IDITTADF T2 N A VAR A,

Total Instant Usage
Remaining Instant Usage
Max Cell Usage

Switch Cell Count

<cisco.BufferDepthMonitor object at Oxb7cl462c>

getTotalinstantUsage()

M=

getTotalInstantUsage ()

| oL-26601-01-J
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Hl GetRemaininginstantUsage()

B/

monitorObj = BufferDepthMonitor ()
totUsage = monitorObj.getTotalInstantUsage ()

BT

show hardware internal buffer info pkt-stats =~ > ROH L Z OB OAFHEAREZERT A Y v R,
NG A—4

2L,

RYE

ZOBREOGFHERREZIKL £,

]

b = BufferDepthMonitor ()
b. getTotalInstantUsage ()

H S5

0

GetRemaininglnstantUsage()

;M=

getRemainingInstantUsage ()

B/

monitorObj = BufferDepthMonitor ()
remUsage = monitorObj.getRemainingInstantUsage ()

BT
show hardware internal buffer info pkt-stats =~ > KOH 152 OB O D O AR Z KT A
Yy R,

NG A=A
2L,

RY{E
ZOBREOGFHERREZIRL £,

i

b = BufferDepthMonitor ()
b. getRemaininglInstantUsage ()

H S5

46080
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getMaxCellUsage() W

getMaxCellUsage()

;M=

getMaxCellUsage ()

X

monitorObj = BufferDepthMonitor ()
cellUsage = monitorObj.getMaxCellUsage ()

BTLL

show hardware internal buffer info pkt-stats =~ > KON LA ERAEEZET A Y v R,
INTA—4

L,

RY{E

ZOBEOAFFEHAEEZKLE T,

#l

b = BufferDepthMonitor ()
b. getMaxCellUsage ()

H 6

19

getSwitchCellCount()

;M=

getSwitchCellCount ()

X

monitorObj = BufferDepthMonitor ()
cellCount = monitorObj.getSwitchCellCount ()

BTLL
show hardware internal buffer info pkt-stats =~ > KO b BT FOFHEEZ KT A
Y R

NG A=A
3L,

RY{E
ZOBREOGFEHNEZRL £,

]

b = BufferDepthMonitor ()
b. getSwitchCellCount ()
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M transfer()

HAH

46080

transfer()

M=

transfer ()

#x

transfer (<protocol>, <host>, <source>, <dest>, <vrf>, <login timeout>, <user>,

<password>)

SR

<source> THE SN2 7 7 A /L% <host> 7> & <protocol> Z ] L T <dest> IZFEHH I N TN B3R

%9 % APL, 7w b alizik, sep, tftp, ftp, Eid sftp ZEHATE £,

INT A=A

protocol, host, source, dest, vrf, login_timeout, user, password,

RYE
BRSNS L7234 13 True 2R L £7,

i
scp ZfEH T D ims:

c = transfer("scp", "10.193.190.100", "/tftpboot/transfer test image",

"transfer test image", user="scpUser", password="scpPasswd")

sftp Z i fH 9 2 sk

c = transfer("sftp", "10.193.190.100", "/tftpboot/transfer test image",
"transfer test image", user="sftpUser", password="sftpPasswd")

tftp % ffi 3 2 fidik

c = transfer("tftp", "10.193.190.100", "/transfer test image",

user="", password="")

ftp Z 3 24835

"transfer test image",

¢ = transfer("ftp", "10.193.190.51", "golden/home/su-ash/transfer test image",

"transfer test image", user="ftpUser", password="ftpPasswd")

CLI()

M=

CLI() - Class Object

#x

CLI (<command>, <do print>)

Il _ Cisco Nexus 3000 &) —X NX-OS Python APl Y 27 LY R #i4 F Y Y—2X 5.0(3)U3(1)
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98

get_output() W

<command> CHREINZ CLI a2~ RCCLIZ 7 ADAT V2l baA v AZ AL ET,

<do_print> % False ICRET H & 2~ FOWAREIR ST, True (77 41 1) |

DSEIR S U E 9

NS A —4
command, do_print

RYfE
CL1 V7 ZADFT Y= |k,

]

c = CLI ('show runn inter ethl/1"')

HAH

!Command: show running-config interface Ethernetl/1

!Time: Mon Feb 27 14:33:24 2012
version 5.0(3)U3(1)
interface Ethernetl/1
switchport mode trunk
udld enable
channel-group 12

<cisco.CLI object at Oxb7ae948c>

get_output()

;M=

get output ()

B/

CLI.get output ()

B
CLI a2~y FoHhEELET,

INT A=A
L,

RYE
CLI =2~> RO,

#l

¢ = CLI ('show runn inter ethl/1"')
c.get_output ()

CRIET B L)

| oL-26601-01-J
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M rerun()

rerun()

History()

H A5

['', '"!Command: show running-config interface Ethernetl/1',
2012', '', 'version 5.0(3)U3(1)', '', 'interface Ethernetl/1',
' udld enable', ' channel-group 12', '', '']

rerun ()

CLI.rerun ()

B
avry REHETLET,

NG A=A
3L,

RYE
2L,

]

c = CLI ('show runn inter ethl/1"')
c.rerun ()

H 6

!Command: show running-config interface Ethernetl/1
!Time: Mon Feb 27 14:37:05 2012

version 5.0(3)U3(1)

interface Ethernetl/1
switchport mode trunk
udld enable
channel-group 12

m=
History()- 7 7 A A7 Y =7 b

B
History()

B L]
History 7 2 ADA TV =7 e A v AZ 2L LET,

Mon Feb 27 14:36:10
switchport mode trunk',

Il _ Cisco Nexus 3000 &) —X NX-OS Python APl Y 27 LY R #i4 F Y Y—2X 5.0(3)U3(1)

OL-26601-01-J |



| £2% 7FU45—a>rFudssvd408—7x42 (AP) BI%

INT A=A
L,

RYE
History 7 2 ADF 7 =7 b,

7l

a = History()

get_history()

H=

get_history()

#x

History.get history()

RYE

Eifr&hla~r FoERZRL £7,

i

a = History()
a.get history()

clear_history()

H=

clear_history()

#x

History.clear history()

E L

BREEZ 7 )7 LET,
NG A=A

2L,

RY{E
L,

get_history() W

| oL-26601-01-J

Cisco Nexus 3000 < 'J—X NX-OS Python APl Y 77 L >X AL F J)y—Z 5.0(3)U3(1) W



$828% 7FUHy—arvrinis

m

Y408 —24Z (API) B |

W clear_history()

#l

a = History()
a.clear history()
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